ootboogbootobootoboobogn

0179



ot ouobuogouogouogoogo
OO0DO0oo0Oooooooo

udd 400 200000 obobbbboooooooooooobobboboboon
ggoooooooobobobbbboddoooouuoobbobbobbboodooooog
ggooouooooboobbbooddooooooobobbbbbooodooooooo
ggoooooooboobbboobbbbooooobbbbbooo ebPOO OO
ggdooouoomobobbbboodoooouooobbb ebPOU OO
ggooooooobobbbbododoooouooboobbbbobbbooooa

dgoooooobbbebPO0nbbbO

ggbobdoooboobobobooobobooobobooobboouobboouob b Gbp
gooooooobobobbboododooouoobobbbbbobooooooLoooo
gooooooobobobbboododooouoobobbbbbobooooooLoooo
d=00goobboouobboboobobbooobbuoouobbooobboooonn
gogoooooobobbbooooooooooobo

ggoooooooobobbbbboodoooouoooobobbbobobbbooooa
gooooooobobobbboododooouoobobbbbbobooooooLoooo
googdgd

googgo
OO0O0000bO00bO0bO00bOo000Aschaver(1989)00000O0O0ODO0O
(19950 000 0000000000000 00000000000000000'™
goboooooobboooobbooobboooobbooobbooobboo=0
ugooooobbbbbboooooooooobobbbbboodoooooono
ogoooobbbboooooo
ggoogobobbbbooodooooobobbboooooouoobbbbooog
ugooooobbbbbboooooooooobobbbbboodoooooono
ogoooon

Y = gAML pR | ke, B A2
= log(Y) - log E) = A0+ A T+ Alogd KP-lod B)+ A lod K&+ A dumB

ed00OO0OOO

'!0Oooooo 400100000

uil77md



AUTOOOO0O0O00O0000O
YO GDP
KPOOOOOOOOO
KeOoODODooooOo
ED0OD00D0O00OxO0000000
dumBl] 000000000 D01989191000
AOC40 00000
D00000000000000000000000000000000000
0000000000000 D00000000?2
KP=IP+(1-8)KP,
KPOOOOOOOOO
PODOOOO
0000000000000
0000000000000 000000000000000
KG=I1G+ IA+(1-0)KG,
KeOoODODooooOo
iGOOO0D0O00000000d
IADOO0D0O0
eO0000D00DOODOOO
KPOOKGOOODOODOOODOOODOOOOOOOODO 450000000
0000000000000 000000000000000000000000
0000000000000 00000000000000000000

goooga
ggooobobooouoobbbooouobobboooouobbboooooo
ugooooobobbbbboooooooooobbbbbboodooooooo
ugooooobobbbbboooooooooobbbbbboodooooooo
ggoooobbbbbibooooooooooobobobobboo

Y=C+ H+ IP+ CG+ IG+ |IA+ HG+ EX- IM

yaGbrPd o dd

coodogdg

HOOOOooo

POOOOOOO

0000000000000 0000000000000000000000000000O0OOn
ggo

0178d



ccuuaoood
iGOoOoddooogdgd
ADDDODOOOO0O
HecUUOOooooo
EXO OO

MO QO d

gogoooooooon
ggdoooooooobobobobbboodoooouooboobbbbobbboooog
ggoooooooboobbbooddoooouoobobbbbboooooooooono
doogouoooooobobobobobobood
ggdoooooooobobobobbboodoooouooboobbbbobbboooog
ggoooooooboobbbooddoooouoobobbbbboooooooooono
ggoooooooboobbbooddoooouoobobbbbboooooooooono
ggosobbooodouoooooobobbbbbodooooooooboboboobooo
gooouoooobbbbbbodoouoogyg

goooood

ggooobobbooouoobbboooobobbooooobbboooooo
ggooooobobbbbboooooooooobobbbbboodooooooo
ggooooobobbbbboooooooooobobbbbboodooooooo
ggooooobobbbbboooooooooobobbbbboodooooooo
ggooooobobbbbboooooooooobobbbbboodooooooo
ggooooobobbbbboooooooooobobbbbboodooooooo
ggooooobobbbbboooooooooobobbbbboodooooooo
ggooooobobbbbboooooooooobobbbbboodooooooo
ggooooooobobbbon

log(C) = BO+ Bl-log YDA + R2AP4 1+ B3 lodC,)

caooogao
yDPO OO GQOoad
A P/P.OOOOOO
BO30 O oaonoad
dbdboooouooooobobououooooboobooboooouooooa
ogooa
YDP= Y- T+ SSnet05 rB

0179]



yood GDP

Toag

SSnel DO UOOOOOOOOO

rBO0 00000

gdg Ssnet 000000000 0O0OUOUOOODDODOODODOOOOOOO

oo dduoouoooooooooooooobobbbobooooorBO
ggooooobbbboooooooooobobbbbboodooooooo
ggooooobbbboooooooooobobbbbboodooooooo
ugoooob sggddoooououoobbbbbooodooooooooo
ggooooobbbbbooooooouooobobbbbboodoooooono
ggoooobbbbbooooooa

goodooodgd
gooouo eGP Udgguououoboobbbbbooooooooooooo
ggooooobobbbbbooooooouooobobbbbboodooooooo
ggooooobobbbbbooooooouooobobbbbboodooooooo
ggooooobobbbbbooooooouooobobbbbboodooooooo
ggooooobobbbbbooooooouooobobbbbboodooooooo
ogoooobbobon
IP=CO0+Cl Y+ C2 KP,+ C3 ROR @ LAND
POOOOO
YeooooooOooooouoooooooo GbPOOOOOOOOOOO
RORO OO OOO
LANDUO O OO GDPUUOUOOOOODODODODOOOO
cov4uuoonoon
gogogooooono ROROOO

ROR=9"Y/ 5~ RR

RORO OO OOO
yood GDP
cUlgouooon
KPOooooooond
RROOOOOO

googga
gobodooboodobobooobboobobbooobboobbouoob b b

01801



ugooooobbbbmoodoooooooobbbbb ebPU OO
ggoooobbbbbooooooouooobbbbbboodoooooono
ugoooobbbbboooooooooooon

R= DO+ D1. RO+ D2- Y

ROOOOOUO

ROOOOOO

yood GDP

poL2000nnon

gogoooooooon
gouooobbbbbboodoooooobobbbbbbbooU 00U GbPy
o eGbPUbbbDbODOOO0OOUOUOUOUOOOUOoLoOLObbbbbLbObOOn

goodgdgd
ddodoo GbPO OO0 UUOUOUOULObLbbObObLbbLbLbOUOODLO
ugooooobobbebPb0uoonbobbobbooooouoouoooooon

'09(E)%Dex) = EO+ El-log Y') + E2 Iog(exc' %e><)+ E3 '0{ = Pexl)

EXCO0QOOoogag

Peddoggd

YO Ooou GDP

exd ODOOOO
PPfOOOGOGoog
exdP'O00O00O0O0OO0OOOOO
Eo30 0 oonon

googdgd

godoo ebPUb bbb UO0O0OUOOOOUOLObOUOOOOUOLOODoao
ggoooobbbbboooooooooobobbbbboodoooooono
ugoooobbbbbibood0oddoouoespoodooooooono
ugoooobobbbbboooooooooobbbbbboodoooooono
ugoooobobbbbboooooooooobbbbbboodoooooono
ugoooobobbbbboooooooooobbbbbboodoooooono
ugoooobbbbmoo ebPUb OO OUOOUOUOOOUOOD
ogoooooboboboon

0 1811



Iog(llv%aim) = FO+F1 logY)+ F2. Iog{Pi%XO p‘)+ F3 Iog{lM-1 Pimlj

+ F4.dumb5

MOO4Qoooono

yadododood GDP

PmOOOOO

exd OOOOOOO
PPfOOOGOGoog
exdP'O00O00O0O0OO0OOOOO
dum93] 95000 000O0DO0
FoO40 00000

gogoooooooo
ggooobobobooooobbboooobobboooouobbboooooo
ggoooobbbbooooooooooon

exc= @D+ @ exg+ @ DR

exd OOOOOOO

PbRUODUOUOOOUOUoOoOobbbbObObOOooOoooa

Gcgooyznnonooboond

gogoooooooon
ggooobboboodoouooboobbboooooooobboooooobobbobod
goooooooobbobbboodoooouooobobbbobobooooo
ggooobboboodoouooboobbboooooooobboooooobobbobod
ggooooooobobbbboodooooooboobbbbbooodoooooono
ggooooooobobbbboodooooooboobbbbbooodoooooono
ggooooooobobbbboodooooooboobbbbbooodoooooono
gooodgd
ygodbbooboooooooobobbbodooobobobbobboboooooooo
ggooooooobobbbboodooooooboobbbbbooodoooooono
ggooouoooobbbbboodoooouoobobbbobboooooo

goood

ggoouobbbbododooooobbbooooooubbbbboooog
ugoooobbbbbboboooooooooooon

01821



AV%\/: HO+ |-|1.A|%:,_1 +H2-Ur +H 3dum75

AWwWWOOODOOO
APP,OOODOODO
uroooo?®

dum781 75000000
HOO3C O DOOOO

oogoooodgd

dogoouoooobbbbboboo eebPUbbnbbbbbbOoOouooD
ggoooobbbbbooodoooouooobbbbboooooooooooo
ggooooobbbbbooooooouooobbbbbboodoooooono
ggooooobbbbbooooooouooobbbbbboodoooooono
ggooooobbbbbooooooouooobbbbbboodoooooono
ggoooobbbbboodoooouo GbPODODOOOOO

log(E) = 10+ 11 W5+ 12-log(Y®)

eEQ0QQgg

wiooooooooooo

pPOOOOO

YeooooOoOoOooooouoooooooo GbPOOOOOOOOOOO
og20000o0n

ggoooooooooon
ggooobboodoouobbbboodoooobobboooooobobbobod
ggooooooboobbbooddooogoooobbbbbooooooooooo
ggooooooboobbbooddooogoooobbbbbooooooooooo
ggooooooboobbbooddooogoooobbbbbooooooooooo
gooooooobbbbbbooouoogodg
ggoooobbbtbboboooooooooobbbbbbooo 1o ooog
ggdooooooobobobbbboodoooouoooobobbbbobbboooog
ggooooooboobbbooddooogoooobbbbbooooooooooo
ggooooooboobbbooddooogoooobbbbbooooooooooo

0000000000000 00O0O0O000O000000000000000000000OO
gooobooooo

01831



ddooouooooooobobbbobobood

ggoogouoobbbbooodooooobobbbbboooooouobobobooboo
ggoooooooboobbboodooooouooboobbbbbooodooooooo
ggoooooooboobbboodooooouooboobbbbbooodooooooo
ggooooooobobbbbooddooououobobbbbbooooooooooo
dgoooooobobbbooooooooooobo

Ui1o0o0oobobobon

goooooooo
ggooooobobbbbbboooooouooouooobobboboboon
ggoooobobbbboooooooooobobbbbboooooooooo
ugooooobbbbbbooooooouooobobbbbboodoooooono
ggoooobbbbbbooodooobbbooo GbPO DD OOOOO
T+AB= G+ rB+ IG+ Lat SAgr SSg§ T ba

oooo
ABODDOODOODOOUOUOOoOoooooooo
cghhooono

rBO0 00000

iGODoOOoddooogdgd

Laboggogdgd

SA¢l 00 n0onon
SS¢]uuupooooooood
TT0oooooooboobooo0oooggd
ball O OO

0 184

[CooO] [Coool oooooo
oooao | O oooao
ooo 0oooooo ooooo
ooo o oooo

0oooooo
(0oooo)
oooao 0oo0o0o0o0o00 oooao
oooooo DoDooO0 [ ooooo
oooo oooo
ooooo - 0oooo
000000000000 0oo0ooo0
ooaog
ooooooooo O
ooo



ggoooooooobobobobobood
goooooboobobooooboobbb ooooobooboboo-coobobbbooo

00000
log(Y) - log( E) = 1257+ Q00B56T+ (9%&{30@ KP - log B)+ ( 94]7.2620g KG
+0.0166dumB
(3.339)

D.W.0 1.459
TOoooOoODoOOo
Yooooooooooo
KrOOoooooooo
KcUOoooooooo
ECDODODO
dumB1O0O0OO0OO0ODO1989191000O

o GbPoOodd oboooao
MINIMUM MAXIMUM
237323.34375 493215.90625
[-+ +-

1975
1976
1977
1978
1979
1980
1981
1982
1983 +x |

| 2 | *+
I
I
I
I
I
I
I
I
1984 | +* |
I
I
I
I
I
I
I
I
I
I
I
I
I

+* |
2 | *+
2 | *+

*4 |

* 4 |

1985
1986
1987
1988
1989
1990
1991
1992
1993
1994
1995
1996
1997

+*
*+

+*

|
|
*4 |
|
*4 |

[-+ +-
237323.34375 493215.90625

0 1857



dooouno googa
MINIMUM MAXIMUM

0.62735 1.09508

1975 |
1976 |
1977 |
1978 |
1979 |
1980 |
1981 |
1982 |
1983 |
1984 | .
1985 |
1986 | * +
1987 |
1988 |
1989 |
1990 |
1991 |
1992 |
1993 |
1994 |
1995 |
1996 |
1997 |

0.62735 1.09508

0 186



gogoooodgd

_ 0 aod\P
log(C) = 0290+ 94:;,4|og(YDP) 0 %42%93 /F,_1 + 05320dC,)

1475 567 (7.872)

D.W.0J 1.098
cobonbono ybPOooggag APP,OODOOOO c.o0opoboDoDDD

ggooouooooonb ooooo
MINIMUM MAXIMUM

135505.60938 298424.93750
|-+ +-

1975 | +* |
1976
1977
1978
1979
1980
1981
1982
1983
1984
1985
1986
1987
1988
1989
1990
1991
1992
1993
1994
1995
1996
1997

+* |

+ *
+* |
* 4 |
*4 |
* 4 |
*4 |

* 4 |

+* |

135505.60938 298424.93750

0187



ggoooooooobobob ooooo

MINIMUM MAXIMUM
201116.03125 416181.34375

|-+ +-
1975 | 2 | *+
1976 |+ |
1977 | 2 | *+
1978 | +* |
1979 | *+ |
1980 | *+ |
1981 | 2 | *+
1982 | 2 | *+
1983 | +* |
1984 | +* |
1985 | 2 | *+
1986 | 2 | *+
1987 | 2 | *+
1988 | *+ |
1989 | 2 | *+
1990 | *+ |
1991 | *+ |
1992 | 2 | *+
1993 | +* |
1994 | +* |
1995 | +* |
1996 | *+ |
1997 | +*

—+ +-

201116.03125 416181.34375

0 1881



ooooooo
IP=-662865 0315r°— 012KP, + 90745ROR+ 56186ZAND
— 7008 (4.489) (9,175

(-9.058) (11226 (

D.W.[0 1.092
iPOODODOOOOOO ROROOGOGOoQgd LANDO O O
YOOoOOOooooooooooooooo GbPOOOODOODOOOD

ggooouooooonb ooooo
MINIMUM MAXIMUM

33113.19531 86589.92188

1975 |
1976 |
1977 |
1978 |
1979 |
1980 |
1981 |
1982 |
1983 |
1984 |
1985 |
1986 | + o
1987 |
1988 |
1989 |
1990 |
1991 |
1992 |
1993 |
1994 |
1995 |
1996 |
1997 |

+*

33113.19531 86589.92188

01891



ooooon
R=-0.000274 1040RO+ (g 0%114 10- Y

(-0.418) (2075}

D.W.[0 1.467
ROOODODODO ROODDOOO YO Oo GDP

gogooooooobnb ooooo
MINIMUM MAXIMUM

0.019850 0.084484

-+ +-

1975
1976
1977
1978
1979
1980
1981
1982
1983
1984
1985
1986
1987
1988
1989
1990
1991
1992
1993
1994
1995
1996
1997 | +* |
—+ +-

0.019850 0.084484

*4 |

*4 |

*+

4

0 190



goooo
EX —_ . exc P
00 ey =~ 2616- 024710dY")+ 030004 7

Ex D.W.O 1.750
7 -1
+070710d 4, )

EXU00o0O0gg Pexi 0000 Y’O0O0O GDP

exd] JO4O0O0O PPO0O00OOOO exckP’/O00O0OOOODOOOOO
ggoooduo googo
MINIMUM MAXIMUM

17903.93750 71114.96875
|-+ +-

1975 | +* |
1976
1977
1978
1979
1980
1981
1982
1983
1984
1985
1986
1987
1988
1989
1990
1991
1992
1993
1994
1995
1996
1997

-+ +-

17903.93750 71114.96875

0 1911



goodgdgd

M/ Pi
mg( /QWJ 1098+ Q234logY) + 024904 fpéxc p)

+O610I09(|M%3im ) + 0104dum 95
)

(8.141) (3.389)

D.w.01.511

MOOOOogOooao PmOODOOO YOOO GDP

exd1 OOOOOO0OPO00O000O0 exdP’O000000O0O0OOOO
ggoooduo googo
MINIMUM MAXIMUM

19547.10742 58096.79297

1975 |+ *
1976
1977
1978
1979
1980
1981
1982
1983
1984
1985
1986
1987
1988
1989
1990
1991
1992
1993
1994
1995
1996
1997

2 | *+

*4 |
—+ +-

19547.10742 58096.79297

01921



gooooooo
exc=11942 0877exc, + 151713DR

(0.819 (12600 (1.043)

D.W.[0 1.958
exd O0OOOOOO DRODDOOOO

dgoooooooobobob ooooo
MINIMUM MAXIMUM

99.83000 305.14999

-+ +-

1975 |
1976 |
1977 | * 4 |
1978 |
1979 |
1980 |
1981 |
1982 |
1983 |
1984 |
1985 |
1986 | + o
1987 |
1988 |
1989 |
1990 |
1991 |
1992 |
1993 |
1994 |
1995 |
1996 |
1997 |

99.83000 305.14999

01931



goodgdgd

AW/ _ P
Yv=007% 0616805 — 1631r+ 006aRM 75

(4.480 (608} (-2.939) (8.68

D.W.[0 1.520
AwwlOODOoooo A PP,OOOOODO
urdgogg dum731 750000

gogoooooob ooooo
MINIMUM MAXIMUM

3.39600 5.26824
|-+ +-

1975 | +* |
1976
1977
1978
1979
1980
1981
1982
1983
1984
1985
1986
1987
1988
1989
1990
1991
1992
1993
1994
1995
1996
1997

+* |

*4 |

*4 |

* 4 |
*4 |

*4 |

+ * |
+* |
*4 |
*4 |
—+ +-

3.39600 5.26824

0 1941



goooga

_ W
log(E) =1602- 0118W7 +

9115 (-19249

ECDODODO

0468odY®)

( 3010p

woooooooooooo

D.w.O0 0.977
POOOOO

YOOoOOOooooooooooooooo GbPOOOODOODOOOD

dooooono oodgod

MINIMUM
1078.02722

|-+
1975
1976
1977
1978
1979
1980
1981
1982
1983
1984
1985
1986
1987
1988
1989
1990
1991
1992
1993
1994
1995
1996
1997

|+

-+

*+

+*
*4
* 4

*4

1078.02722

01957

MAXIMUM
1285.26648
I
I
I
I
I
I
I
I
|
I
I
| *+
+ I
2 | *+
|
+* |
2 | *+
+ * |
+ * |
|
+ * |
+ * |
>y |
1285.26648



